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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 180
Al 690
206 M=l 90,000 90,000 0
= 63,900
== 5,400
Al 20,700
IEET 9,000 90,000 0
OLYEHE LHE %M (LEH, &43H,
EZI=M) 90,000,000& x14! 90,000
= 63,900
< 5,400
Al 20,700
401 AlZHIZ SO 3,000,000 1,714,467 1,285,533
= 1,195,680
& 717,408
Al 1,086,912
01 Al&HI 2,989,200 1,709,375 1,279,825
OLEHHE YH(ALUSTHES S)
3,000,000,0002 *99.64% 2,989,200
= 1,195,680
< 717,408
Al 1,076,112
03 Al&SCHb| 10,800 5,002 5,708
OLEHE LR (0.36%)
10,800,000 * 14 10,800
ALIEF 0ISHS 87,560 87,560 0
= 43,780
= 13,134
Al 30,646
101 @124H| 81,240 81,240 0
= 40,710
< 11,134
Al 29,3%
M ORIMZZ2NSE S 81,240 81,240 0
OueldaliE HEZM & ALRT 0IS &
= 1,805,320 x52 * 171 X=+0E 81,240
= 40,710
[ 1,134
Al 29,3%
201 er23| 6,320 6,320 0
= 3,070
[ 2,000
Al 1,250
01 At2t2lt] 6,320 6,320 0




2A:
T ZH -
o e

=aak

Ofl &F2H

MEE
Ofl &k2h

6,320,000 <14l

mhoH

=

6,320
3,070
2,000
1,250

hoH

=

5,000
2,500

750
1,750

5,000

401 AIZHIYL 20

Mo

=

5,000
2,500

750
1,750

5,000

01 A&l

OMER +2X2

250,000 *200H 2

Mo

=

5,000
5,000
2,500

750
1,750

5,000

Mo

=

629,932
117,245

23,449
489,238

629,932

101 e124d|

hoH

629,932
117,245

23,449
489,238

629,932

227,990,000 14

150,000 20

350,000& %10

107, 6703 x 0 x 122 ~20
84,8303 x8E 122 «20

oW = M W

=

hoH

629,932
234,490
227,990
113,995
22,474
91,521
3,000
1,500
450
1,050
3,500
1,750
525
1,225
395,442
232,568
162,874

629,932
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Y FESNSUEE(SERXNAMNL/NALCAI)
Chel: D28 T4zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50,000
Al 50,000
401 Al HIZL 01| 100,000 400,000 A.300,000
= 50,000
Al 50,000
01 Al&H| 99,100 397,120 A298,020
OSMMTE TAA(HEAY)
100,000,000 %99.1/100 99,100
=S 49,550
Al 49,550
03 Al 20HHI 900 2,880 21,980
OsMMI sz REAS (HEAIY)
100,000, 0002 *0.9/100 900
= 450
Al 450
CAlE ZE(MEISE)(HEAY) 100,000 0 100,000
= 50,000
Al 50,000
401 Al HIZ S OHbI 100,000 0 100,000
== 50,000
Al 50,000
01 Al&HI 99,100 0 99,100
Otte 3 LA (HEA)
100,000,000& *99.1/100 99,100
S 49,550
Al 49,550
03 A2 THYI 900 0 900
OMZBE ZAME(FEAL)
100,000, 000& *0.9/100 900
=S 450
Al 450
SNz ZL(EEEZ2s)(HEAY) 100,000 0 100,000
< 50,000
Al 50,000
401 Al HIZL 01| 100,000 0 100,000
= 50,000
Al 50,000
01 Al&H| 99,100 0 99,100
OSSN ZRE THAY(DEAY)
100,000,000 +99.1/100 99,100
= 49,550
Al 49,550
03 Al 20HHI 900 0 900
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o DESXSAEL(SELX ML/ XALZAI)
Chel: D28 T4zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSsHar2l A 2E RAA (REALY)
100,000, 00024%0.9/100 900
== 450
Al 450
TAlE RH(Btn%E)(MEALY) 60,000 60,000 0
= 30,000
Al 30,000
401 Al&HI 2L 2O 60,000 60,000 0
= 30,000
Al 30,000
01 Al&Y 59,460 59,460 0
O0LzSstn st R4 (MEAIY)
60,000,0002%99. 10/100 59,460
== 29,730
Al 29,730
03 AlZ 2T 540 540 0
O0gzSstn stls A4 (MEAIY)
60,000,0002%0.90/100 540
< 270
Al 270
TAE ZHOIZEHE TAIS) 1,000,000 0 1,000,000
7| 500,000
Al 500,000
401 AlEHI 22O 1,000,000 0 1,000,000
Il 500,000
Al 500,000
01 Al&H] 993,700 0 993,700
O2023E 012 RItAE DS TAIE X4
At 1,000,000,000%99.37/100 993,700
7| 496,850
Al 496,850
03 AlZ 20 6,300 0 6,300
02023 012 2ItAE J|IZUHS TAIE £4
At 1,000,000,000+0.63/100 6,300
7| 3,150
Al 3,150
TAIE ZH(HE II24)(HEAY) 300,000 500,000 A200,000
= 150,000
Al 150,000
401 Al&HI 2L 2O 300,000 500,000 A200,000
= 150,000
Al 150,000
01 Al&Y 297,840 496,400 198,560
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Mu: EE=J|RAEA(RELTIHL/ KLY A
Chel: D28 T4zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFelE @ 242 ZAAY
300,000,0002%99.28/100 297,840
= 148,920
Al 148,920
03 AIESTHYI 2,160 3,600 1,440
Odcte #8 It2+2d TdAY
300,000,000& +0.72/100 2,160
< 1,080
Al 1,080
SNz ZH(EE 242 (HEAY) 300,000 200,000 100,000
= 150,000
Al 150,000
401 A& HIX R0 300,000 200,000 100,000
= 150,000
Al 150,000
01 A28l 297,840 198,560 99,280
OYE Jt242 THAY
300,000,0008%99.28/100 297,840
< 148,920
Al 148,920
03 Al 20HHI 2,160 1,440 720
OBE J242 THA
300,000,000& +0.72/100 2,160
= 1,080
Al 1,080
SAE ZEQF JIZS) (HEAY) 100,000 0 100,000
== 50,000
Al 50,000
401 AIEHIZ R HYI 100,000 0 100,000
< 50,000
Al 50,000
01 Al&H| 99,100 0 99,100
O4lR 2 ZEAMY
100,000,000& +99.1/100 99,100
= 49,550
Al 49,550
03 Al = THHI 900 0 900
Ot JiZ2= &AM
100,000, 000& *0.9/100 900
& 450
Al 450
SAE 2oty Dels) 100,000 200,000 100,000
Jl 50,000
Al 50,000
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M ZE=XSUAEY(SELXGINL/XLSL A
el Jt2Ed 42| (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
401 AIEBIZ20HbI 100,000 200,000 100,000
| 50,000
Al 50,000
01 Al&HI 99,100 198,560 A99,460
OXtH Al el AAALY
100,000,0002*99. 1/100 99,100
| 49,550
Al 49,550
03 Al CHYI 900 1,440 AB40
OXtHCrAl el ZAALY
100,000,000 *0.9/100 900
| 450
Al 450
ot 2el 1,397,010 1,255,835 141,175
101 el H| 953,010 664,646 288,364
M I1RIMZ2Z2XsE+ 953,010 664,646 288,364
Otz & JIZ235HE 2te| 472,459
oSgolg 192,375 x4 B +x22 2 +8H 135,432
oEs0IF 337,027
-2 76,9602 23 22 2«8 311,535
—BrEE 5,000 x 18 x222+8& 880
— MBI BEAT
6,080 x23H 222 +8H 24,612
O=2 & F:tzH EHON(E2:) &d 164,663
oEgoIR 192, 3753 x4 B +22 U +8H 135,432
oEE0R 29,231
-0 76,960 2B +x22 2 +8H 27,090
—MER PELY
6,080 x2H x22 2«8 2,141
OADHX =23 Jt24 ATHX| 10| 164,663
oEgoIR 192, 3753 x4 B +22 U 8 135,432
oEE0E 29,231
— ozl 76,9602 22222 x52) 27,090
—MES PEay
6,080 x2Z x22 2 +8 2,141
OTHo M Itz & 2Fx SPHY 6,886
oEgoIR 192,375 x5 x5 4,810
oEsolg 2,076
— oIl 76,9602 52 x524 1,924
~ MBI BESY
6,080 & x5 H 5 152
OJt24 Yot 36,539
oEsolg 36,539
-l 76,9602 #52x22 2 x4 2 33,863




SA AE
HE: ZE=X|DAEL(REUXHNL/NALEAI)
H?el JtlzEd Tdael (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
“NEAD Daag
6,080 x5 »222U*43 2,676
OAzl28Za 107,800,000 *14] 107,800
201 et 3| 87,500 79,089 8,411
01 At 22|l 53,180 53,580 A400
Oget=ZH] 6,000
otz & JIZ3tE AR ANES
9 RoiTn 19l
100, 00021 +20 % %33 6,000
osgsy 1,400
oTAlE S T8 - B2l 49 AR FA
=g 100,000& *7 & »23] 1,400
Oogxz 45,780
oMol Lol It U= HHl Axt 4,180
—dgle! 660,000 *33] 1,980
—=4)] 550,000 42| 2,200
otz & JIZotH 2l XY SR
700,000 x 123 *1CH 8,400
otz & JiZete 22| QIR &R
PN 700,000 x8E 2K 11,200
o=g UHl S=+=xtg St
11,000,000 x2 & *1TH 22,000
02 s3=gHl 34,320 25,509 8,811
OAlZ EHIs Xl 16,680
oSH &I 11,880
— =4l 100,000 = 10CH 1,000
-SRU(EES) 1,800& 700 £ +8& 10,080
-Zd S 8 7Y 100,000 82 800
oJt24 g5t FAl2 4,800
— =4l 600,000% *1CH*23 1,200
-SRU(EESR) 1,800 500 £ 43 3,600
Otz & IJtzaltt 22| HgxtE *RFU
1,800 %350 £ x12& 7,560
OJIz2 & Jt2stE 22 2R =81 =
= 1,800& 350 £ *8& »20H 10,080
202 04| 1,200 1,200
01 =LHAHI 1,200 1,200
OJiz2 & D23t 22
20,0003 x4 x153] 1,200
206 M=l 50,300 50,900 A600
01 M=4l 50,300 50,900 A600
Oz & X+ 2SS 7Y 43,300
oXZE Hlg #Y 27,0003 *300% 8,100
oA MTL(3B) 26,4003 x250H x53] 33,000
SIIEHHH(EY S) 22,0002 *100H 2,200




SA AE
BH: ZE=XRAEN(REUXANL/KALTA)
el JI2Ed dael EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =257 & 2alg Ak e
10,0003 »200= 2,000
OJIRBIE AR 4279
5,000&*1,000=F 5,000
401 AIEHIZ SR OHYI 305,000 460,000 155,000
01 Al&HI 301,850 455,752 153,902
Otz el S£AX SHIAY
50,000,000 *98.92/100 49,460
Otz FHl(==Al)
50,000,000& *98.92/100 49,460
OJt2= L It235HE TIcHE 24
40,000,000 +98.92/100 39,568
Otz getd dols2A
50,000,000 *98.92/100 49,460
Osgs Itz 2858 AXZ2AHFUE
01|/¢) 80,000,000&%99.1/100 79,280
X7 Ot24 L Ot2etet 2AAE 34,622
03 Al 20HHI 3,180 4,248 21,008
Otz el S£AX SHIAY
50,000,000&*1.08/100 540
Otz FHl(s=Al)
50,000,000& *1.08/100 540
OJt2= L II25HE TIcHE 24
40,000,000& +1.08/100 432
Otz getd dols2A
50,000,000& *1.08/100 540
Oses Iz 258 AXZAHFUE
ol &) 80,000,000& +0.9/100 720
OS&XF Itz & ItZstE 2AAEY 378
b SEAY 50,000 40,000 10,000
401 Al HIZL R 0HHI 50,000 40,000 10,000
01 Al&HI 49,460 39,568 9,892
OTdX Itz HF
50,000,000 *98.92/100 49,460
03 Al 2 CHHI 540 432 108
O&dX Itz &3
50,000,000& *1.08/100 540
Sd=clll & It=ste E 230,000 190,000 40,000
401 AlZHIZ SO 230,000 190,000 40,000
01 A28l 227,516 187,948 39,568
O=&17sd =8 =0 2l
50,000,000& *98.92/100 49,460
Oyl S22ty &ZEH
50,000,000 *98.92/100 49,460
OXsSit HEL2Y WSy S3EH]
50,000,000& *98.92/100 49,460




S AR

3 —?—%?II%EE’S(EEQJIIQJH%*/IIE%'EAI)
Chel: D28 T4zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osdzelll ¢ Jizstt 2= &F
50,000,000 *98.92/100 49,460
OFdItZ=2 B3 EY|
30,000,000& +98.92/100 29,676
03 Al 20HHI 2,484 2,052 432
O=k17ad =4 =i 2el
50,000,000& *1.08/100 540
Oyl S=eity &ZEl
50,000,000& *1.08/100 540
OXESt HEL2Y WSH &3 &Y
50,000,000& *1.08/100 540
Osdzeltl € D=3ttt 25 &H
50,000,000& *1.08/100 540
OFEIIRAZ BEFY
30,000,000 +1.08/100 324
otz W OtZ2ste (R0t 30,000 50,000 £20,000
401 Al HIZ S 0HbI 30,000 50,000 220,000
01 AlZ2H| 29,676 49,460 A19,784
O=tatetl JtZ2ste & SSEcl 238
&Hl 30,000,000 *98.92/100 29,676
03 Al 20HHI 324 540 A216
O=Jrtel Jizete & S22l 23
e=Jull 30,000,000 +1.08/100 324
S0 € AF2lE 2 2ddtel 147,339 239,146 A91,807
101 @124H| 36,539 38,946 N2,407
04 JIZtNZ2 2N S+ 36,539 38,946 A2,407
Oogg=il & UHEelE ME=HY 36,539
ocE2E0IR 36,539
—eIfY 76,9603 x5 Fx22 U +4FH 33,863
-—dEds 2l
6,080 x5 222 *43 2,676
201 er23| 8,500 12,900 A4,400
01 AtR2t2|HI 8,500 12,900 A4,400
O=AU & MF2E Mg 0 7
3002 %15,000& 4,500
O=X0 2 Ms2l" Xel oIR JHgE o
Zeic 7 7ol
100, 0002 5 #43| (& ) x25 4,000
202 04| 2,400 2,400
01 =LHA LI 2,400 2,400
O Al=ztaie] g &0l
20,0003 x3& »233] 1,380
OEZAISSIAIE R &KX A
85,0002 x3E*x2 L +23] 1,020
206 M=Hl 6,500 6,500
01 MHZH| 6,500 6,500




A A
BH: ZE=XRAEN(REUXANL/KALTA)
Chel: D28 T4zl EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZ A=A XN =228 72
10,0002 *500% 5,000
ouetZ 233t s4 & 22|
1,500,000 *14] 1,500
301 LB NZ 8,400 8,400
14 JIEt2 43 8,400 8,400
Oz - =X2el & 243 s Qztel
Tloh =24 600,000& * 143 8,400
401 A& HIZ 200 85,000 170,000 85,000
01 Al&Hl 84,568 169, 100 AB4,532
O&HU =5 L BHOALES HUI(2Al)
40,000,0003 14! 40,000
Ol 22& HteH (=20 &) EUlA
40,000,000&%98.92/100 39,568
O== 32 4=2F0| ATHAIS
5,000,000& x14! 5,000
03 Al = CHHI 432 900 A468
OD|ZZE Hie (=20 &) A
40,000,000 *1.08/100 432
=X0 2 UFeE 23 EHIALS 210,000 220,000 A10,000
401 A& HIZLS0HY| 210,000 220,000 A10,000
01 Al&HI 207,840 217,732 A9,892
OXgE Ji12dH & =Xt 24|
60,000,000 *39.10/100 59,460
OZAl=(&X=) Z&X EHIDI
40,000,000&%98.92/100 39,568
OXFelE = ZHiD]
30,000,000 *38.92/100 29,676
Odiatuxiz S0l ¥ d=HA
30,000,000 *38.92/100 29,676
OZAMX =QE2H Y2 HAH(=AI)
20,000,000 *98.92/100 19,784
OYia Lis= 201 S el
30,000,000 *38.92/100 29,676
03 Al CHYI 2,160 2,268 2108
OXgE Ji2H & =Xt 24|
60,000,000 *0.90/100 540
OZAl=(&Xs=) ZEX EHIDI
40,000,000 *1.08/100 432
OXEelE & EHI0I
30,000,000&*1.08/100 324
Odiatuxtz S0l ¥ d=HMA
30,000,0002*1.08/100 324
OZAMX =REEH YZHA(=AI)
20,000,000 *1.08/100 216
O%ia Lis= S &H 24|
30,000,000& *1.08/100 324




SA AE

HE: ZE=X|DAEL(REUXHNL/NALEAI)

Chel: D28 T4zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=59 &Y otSh=2 = 2= 100,000 4,000 96,000

= 35,000
Al 65,000
401 AlZHIZ S 0HbI 100,000 0 100,000
= 35,000
Al 65,000
01 A28l 99,100 0 99,100
O0ASs =0t 2= THAY
100,000,000& +99.1/100 99,100
== 34,685
Al 64,415
03 Al 20HHI 900 0 900
OlANES =0l g€ed= 2EMY
100,000, 0002 *0.9/100 900
= 315
Al 585
YA HHI(AZ) (OIEHIIE}) 141,785 250,349 108,564
el 2| 54,118 163,822 109,704
el 24| 54,118 163,822 109,704
101 @124H| 54,118 163,822 109,704
03 SRH(RINAHA) 222+ 54,118 53,307 811
OAlIZRZ 25 41,641
oLbHZ(SHz2H)
17,543x 18«20 A| 2+ 12 4,211
OIPAZ(IIZ T2
25,9933 x6H20A| 2t 12 37,430
Ol 22527 It2+ SR HE2
=2 (NSALD B2, =S )
25,9933+ 6 #4A | 2H20 12,477
Jl=3H| 87,667 86,527 1,140
Jl=23H] 87,667 86,527 1,140
201 fer23y| 54,626 54,086 540
01 AtR2t2lHI 49,553 49,013 540
OYetgH| S 4
26,949,000 * 14| 26,949
O8d2? SFRA XNg=s S
150,000& »7 H =22 2,100
OSgHl S9A & 14,714,000 x 14} 14,714
Odt2=, sZRilae] SR dE2RL
ZHAH 3,0003+7&»230 4,830
Ol S=s57 It SRA S22
AlH 8,000 6 »20& 960
2 352484l 5,073 5,073 0
O=32= € MAl S9N
5,073,000& 14 5,073
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Hlw

600
600

MEE
Ofl &k2h

28,241
28,241

4,200
4,200

ol &rey

28,241
28,241

1,441

2,400
14,400
4,800
4,800
4,800

- SRA(E) - HIRAY

- ESS

S LRE-L

01 S0

202 04|

11,441,000 x 14!

0

0H

10,0002 x1&+20d « 123
10,0003 x6 2 x20L « 12

Kl
KF
oF
ol

0H

400,000& * 122




